ERBUSREA S L3008 (FR28FE)

(A/H) (A/H) (A/H)
INEfiz ER% R FEAS | |IEf BR% R FHEAS | |IBfiz BR%& R FEAS
1 5 % FEIREAMR| 121,370 | 51 o R O|JEHER 3,973| |101| B FF K ¥ |HE AR 1,828
2 "B RIREAMR| 35431|| 52| B E F |EREBAER| 3,963|[102 = W H 2 KR 1,800
3| EBERE R R |ERSARR 19,842|| 53 F B BEREARR| 3,934| (103 F 5 H 2 KR 1,786
4 ) HEAK#| 19,165|| 54 2 W BIREAMR| 3,826/ (104 Hl & K |HEXE 1,773
5 il = FEEIREAMR| 16,228| | 55 E & F B E R 3,774| | 105 n i FEIREBAIR 1,764
6 g2 5 EEIREA#R| 15,293|| 56 ] & E R 3,615| |106| K if 'R R |[AHERE 1,728
7 fg N FEIREBARRE| 14,576 | 57 =] 73 i 3,322| |107| £ # & [k |EEBXR 1,667
8 B Ix FEIREARRE| 13,812 58 X Bl F EHEZK%? 3,168| | 108 = Iz £t RAR 1,646
9 k& RIFA#KE| 12,341|| 59 o E HEA#| 3,117|(109 £ A H 2 KR 1,641
10 & i RIREAKR| 12,1721 | 60 | B KR HE [ERBAER| 3,102 [110|\IXFTVRX| KX & # 1,638
11 + E ERIEEAKR| 11,923|| 61| K £ H |[EREBAR 3014|111 | ZE8F Eal |[SEXE 1,622
12| 8 T X #l |EBRESAHIR| 11,468|| 62 /O EIREARR| 2,962|[112 | I R4R 1,616
13 E IJJ‘J RIGAH#| 10,650|| 63 ® % L AR #R 2,927 [113| K 3 K Z #§l | EEKREF 1,604
14| M @& B |BREEAME| 9,819|| 64 [AR-ZT-ILR|BEEXRLE| 2,878||114 L= & MR 1,575
15 F A EIRBA#R| 9,653|| 65 b2 HEAK#%| 2853||115| B B B u;u%Zﬁ"? 1,571
16 ) EIREAMR| 9,150 | 66 n - n BEREARR| 2,814||116 2 EEN 1,546
17 = 1] :b/u%z':%? 8,427 67 * % B IR BARER 2,770( | 117 h 1 E =2 KR 1,491
18 | N AKZFWHE M| [ A R 8,264|| 68| T LU P9 i AE AR 2,670| |118] 1 B W |RIFXR 1,486
19 X B O :b/u%z':%? 8,139 69 = A O B IR BARER 2,647 | 119| &= 1 K 2 7l [BIEEXR 1,475
20 T F BRIEEAMR| 7,897 70| X # W |[ERBAER| 2636|120 & B F |IEEHNER| 1,462
21 A B X FE IR AR 7,743 71 ] + R I AR 2,609| 121 NF T FEIRE AR 1,461
22| L E K Bl |BRIEBAE 7,520| | 72 X 0 K 2B KR 2,609| 122 — = e AR 1,412
23 —_ B ™ :b/u%zg%i 7,457\ | 73 = L IETEALIERR 2,594| 123 L UL & mu%ZM? 1,411
24 | W A1 A1 JR | W OAE AR 7,353| | 74| BB & K 2 |SIEKXR#R| 2,548|(124 R H 1|;|: ER 1,407
25 E W& :b/u%ZK%? 7,039/ 75| £ B X |[BEBFER| 2542|125 H m H EXRR 1,405
26 J\ =3 IR B AR 6,745 76 | &7 80 W4 HZ KR 2,493 126 = N b/u.%jg“l"? 1,393
27 =] = :b/u%z':%? 6,662| | 77 N iul N 2,473||127| 7B B th R | & HE R 1,384
28] F B AR 6,563|| 78| B & Ik |EEBAFIR| 2,457|(128 A CEX 1,374
29 MM A b/u%ZK%? 6,392| | 79| ®H @& M |EBEBAFR| 2,450]|(129 + H é ME AR 1,364
30 7T B EXR#| 6,381 80| H B K Al |[EESKHE| 2,420|(130] B 1T 18 EXRR 1,348
31 AR EZF%? 5,933| | 81 ¥ H HEA#| 2,365/|131 H MW HEKXR 1,342
32 g REIREBA#R| 5,679|| 82 R BEEARR| 2,292|(132] ¥ » & & mu%Zﬁ"? 1,341
33 e i BB #R 5,547|| 83 55 b B #E R 2,290 |133|&HH+E N R IG A 1,333
4| & N B b/u%ZK%? 5,361|| 84 5 BEAM#E| 2278|134 A O BRI 1,290
S| 8 = [EwAw| 5208 85| B 2 I |mehsi] 2153 |5 AREA TR A X AR 1289
36 S 18 i 5,165| | 86 ALY BEREEARR| 2,137|(136| M@ B B B |IEBEMBER| 1,263
37| M 8 & :b/u%zi’ﬁ 5,164|| 87 KB BEIREARR| 2,134||137 Toom XM R 1,254
38 L RIEEAHRR| 5158 |88 | H B I |SEA#R| 2,080|[138 ] REREARR| 1,230
39 #w R RIEEAIR| 4,967|| 89 X ' HEA#E| 2061|139 N REREARR| 1,213
40| B M F | HWER 4944|190 | #F J\ K |EEBALE| 2,023||140| BB &1 L O |RBFAR 1,212
41| m /N B |HERXRK|] 49339 B 15 HEAXA#B| 2006|141 X[ HES X 1,195
42 | 1 = P R ERSAIR|  4,878|| 92 Ko BEREARR| 2,005||142 F 1B FEEMERR| 1,173
43 & E' ®ER 4,786 | 93 e g H & K #R 1,963| | 143 b B FEIRBAIR 1,172
44 EL BHEAXE| 4,773|| %4 E 5 RIGAR 1943|144 BH 1 KR |AKXKEKR 1,167
45 & H ERIBRBARR| 4,656|| 95 |/ T AR H 2 AR 1,902(|145| B a1 BE B |RIBEAMR 1,167
46 | M T K #i |ERBARR| 4,473|| 96 F X B R 1,884| | 146 B 7 S IEA R 1,166
47 | # R X |HERXRER| 4434 97 & i 1881|147 th J ™ |BHEXE 1,165
48 35, 25 SRR 4,276| | 98 E q 2 R 5§ K #R 1,868 | 148 = % & MR 1,165
49 | 1 K Bl F % EARER| 4,276 | 99 A ) NEARR 1,868 | 149 H oK JUMNERERER| 1,164
50 = H BB 4,052| | 100 ¥F + B IR EBAHR 1,838| |150| #F /i # @ |FEEEAR 1,143




A/B) A/B) A/B)
N4z BR% & | REAR| |IE BR%& & | REAR | |IEAL ER%& R REAE
151 R K 2 KR 1,134| (201 A B Lt | RIFKHR 728|251 % A |EER 465
152 #B Ik HE KR 1,111 1202| BE BT B A |RIFKKR 721|252 = H R IE KR 462
153] 58 M K | EHR 1,082| [ 203 K e R B4R 708]| | 253 N E R 458
154 B T EEMERR|  1,079| [ 204 ¥ 18 FETEHLIRER 707) (254 — & Wl | HBE & 450
155| £ £ K |BEXK 1,075]| | 205 N 2 KR 700(|255| & B | AKKER 450
156 BR K B A #R 1,072 | 206 = HE KR 700| [256] B K E |[HEXRR 450
157 AN IR ER=R 1,053| (207 & H 0O |SEXKR 677|257 A # W |[HEXRR 449
158 - m EREAIR| 1,052|(208] f 1 B | % B R 673|(258| A F# H |ERESAHR 430
159| # 18 fin /N E |EEIREARR|  1,049| 209 | A B KB KA | A K AR 670( (259 B A B K [AKXKR 424
160 = X A & | i B % 1,043| [ 210 ]|k REIRSAIR 669| | 260 M HEXR 424
161 OB ZREAR 1,030 (211 #0 & H |BHEX#KE 668| | 261 . A 2 KR 424
162 F & A F |ERBARR| 1,014||212 R K E AR 668|(262| BE Al &5 B |RIEARR 423
63| A #H B |RIFXR 1,013| [213| A JIl 4 H |HHEEZWR 666| | 263 F & HEXR 423
164 g5 & BEREAIR| 1,004| (214 7 B X |EEEFKR 660((264| 2 £ 2 M [HEXRR 418
165 K eI BAHR 988||215| AE Bl 1B |ERIESXR 650| | 265 B B AR 408
66| B J E |ERX#K 987|216 E A FEEAIEHR 627|(266| B W E |ERESFRR 407
167 N FETERTIER 982| 217 w5 B A #R 626| | 267 = A Z AR 404
168| %1 H K |BEX#K 982| [ 218 "o B A #R 617| [ 268 B & i BE #R 403
169 & # # = | & # % 973|1219] A &K H |[EIEAXR 614| | 269 H F &t R AR 403
170 M # X |EEXKE 970]| | 220 R IE i AE % 609| | 270 AE U HEXRR 399
171 Im B HE XiR 969|221 M 2 B |[AXEXR 609 (271| i Al 1B &£ [HEXRR 396
172 B ¥ H |[EEXKE 950(|222| BE Bl B |RIEAXR 606| | 272 #H OB HEX#R 395
173| # & Z B/ |EBRESFRR 940(223| 1 EF B |[JUMEER 605| | 273 a H HHEE L 393
174 NI 1 X R 921| [ 224 A HE & M #R 601| [ 274 iz  H HE KR 389
175 # H HE XiR 906| | 225 H % HEXR 600| [275| B A B |HEBARIR 385
176| B Il & B 5 |HEEZLER 900(|226] H * R [AKXAKX#R 600((276| K J B |EHR 377
177 5 Bl R T | 3 B R 899|227| i B fE K [MEXRR 595|277 2 # M H |[EEEXRR 375
178 £ H &t AR AR 888|228| # K R [JUMEERR 595|278 X E EESSEAER 375
179 m B Ee S EAER 883 [ 229 B Bx & M #R 581|279 — X W |HHEWR 369
180 # XA R |HEXR 878| [ 230 8 kK A KA #R 565|280 K ¥ T |EREESXE 368
181 & KX F |ERESFRR 876(1231| M K & |[AXAEXR 556|281 & 2 i |[ERIESKXR 366
182 = I = B |SIBZER 864| [ 232 2 & A EN 554|282 EVN B Z R 360
183 H m & & |[HEXR 858|233 i #® & H | AKX 5491283 £ B # |BEXR 360
84| E H 2 HHEEZ L 854| [234| # K F H |NMFEER 546|284 /N B E |[AXAEXR 357
185| = E H |EEXKE 844|235 = Iy M = HEAXR 542| | 285 7 H @& 355
186 A8 F Iy | HHR 838[1236] = B K |[SEAXRR 542|286 = ®l R [{EHEHAER 353
187 M X [ |BHEXKE 837| [ 237 x & HE KR 537|287 N (7 H &R 353
188] ® B F | LR 823| [ 238 H W RN 533/ | 288 " X M % 345
189 iz B HEXiR 810| [239| & B M T E'E%Z!K?ﬁ;? 530|289 % =2 & |[EEBKXR 343
190 4+ 3 R I AR 808| | 240 i T HEXR 523| | 290 & = HEXR 343
191 = HEX#R 805| | 241 g B HEXR 523|291 w3k REEEAR 338
192 = i HEX#R 799]| | 242 X & &1 R AR 523|292 & #& & |AKXEX#R 338
193 H H N 783| | 243 B HEXR 520| [ 293 L HEXR 338
194 £ W HEX#R 761| | 244 H & I EN 511|1294| ® ™ X |ERESXRE 337
195 HE HEX#R 758||245| 8 J R & | B H R 502(|295| & % 3| AKXKR 333
196 i3 HEX#R 752|246 B BB F | B R 502|129 # % H | #H LK 331
197 ] _F & KR 740| | 247 = B EEIREAIR 491[1297| = A H |[EBEMIER 331
198 B & & MR 740| | 248 X HEXR 481 | 298 B K BEZ #R 328
199 & M B 7351249 B K & |HEAXR 478|299 R £ EIE AR 324
200 Bl K 0 | BE R 732| |250| i B S F R |EBAIEHR 471|300 % R R IE AR R 323




BRBIREBAE 100 AL EDBR (_EAI3008RERS)

xR

FEC AR

HEAKR

J
Wi

Wz A

= K

ZEE M=

TESRHR

%~ e B Al

RIRAHKR

FE R

fE 81 & F

B ‘I R

fE B K @

N OH

w L

N

fE 81 & H

HFACHR

T ERER

EHERR

FEAKR

(FER28FE)
@4, B4,
5 B
%
AEELE | & &
= 5 1 1B
C—
wEEE | T B 4
@
2 8 =
kS E
5 = o
e
% ™
E A
% @ W
= 2 A&
= =
R |4
T
2 X
KATER M
= 0
= i
mmks [ @& 5
2 R
n =
. z 5
i T
=
=i e
w % B
ZEm |20 0K 5
T 5
W 4 @
EiE | B &
= 7 &
TR
8
B w2
m W




